
Soustraire des fractions mixtes négatives (G)

Nom: Date: Note:

Calculez chaque différence.

1. (−215) − 413 = − = − = =

2. (−316) − 125 = − = − = =

3. (−135) − 414 = − = − = =

4. (−212) − (−523) = − = − = =

5. (−113) −
1
5 = − = − = =

6. (−112) − 535 = − = − = =

7. (−114) − (−325) = − = − = =

8. (−245) −
1
2 = − = − = =

9. (−525) − (−123) = − = − = =

10. (−212) − 513 = − = − = =
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Soustraire des fractions mixtes négatives (G) Réponses

Nom: Date: Note:

Calculez chaque différence.

1. (−215) − 413 = (−115 ) −
13
3 = (−3315) −

65
15 = (−9815) = (−6 815)

2. (−316) − 125 = (−196 ) −
7
5 = (−9530) −

42
30 = (−13730 ) = (−41730)

3. (−135) − 414 = (−85) −
17
4 = (−3220) −

85
20 = (−11720 ) = (−51720)

4. (−212) − (−523) = (−52) − (−173 ) = (−156 ) − (−346 ) = 19
6 = 316

5. (−113) −
1
5 = (−43) −

1
5 = (−2015) −

3
15 = (−2315) = (−1 815)

6. (−112) − 535 = (−32) −
28
5 = (−1510) −

56
10 = (−7110) = (−7 110)

7. (−114) − (−325) = (−54) − (−175 ) = (−2520) − (−6820) = 43
20 = 2 320

8. (−245) −
1
2 = (−145 ) −

1
2 = (−2810) −

5
10 = (−3310) = (−3 310)

9. (−525) − (−123) = (−275 ) − (−53) = (−8115) − (−2515) = (−5615) = (−31115)

10. (−212) − 513 = (−52) −
16
3 = (−156 ) −

32
6 = (−476 ) = (−756)
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